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Question 1 ( 8 marks)

a) Factorise fully : 2x* —x% + 8x — 4 (2)
by Solve -1<2x+3=5 (2)
c) Find the domain andrange of y= (—2-;:—;—3—) (2)
d) Show that the points A(3.2), B(-2,1) and C(8,3) are collinear (2)
Question 2 (8 marks) ( Start a new page )

a) Use the quadratic formula to solve the equation : 4x*+5x—2=0

leaving your answers in the exact form (2)
b) Simplify 5v3 + v20- 2~ 12 + V45 (2)
s .2 2
sin“ 6 +cos“ 6
()

c) Simplify ~ tanfe

d) Solve cos6 = — %é' for 0°<6 < 360° (2)
e) Is f(x) = x° —=x an odd function ? Explain your answer. (1
Question 3 ( 7 marks) (Start a new page)

a) The sum of the interior angles of a regular polygon is 2340°. Find the measure

of each interior angle of the polygon. (1)

b) Provethat (1 —tanx)? +(1+ tanx)? =2 sec?x (2)



c) (i) Find the length of BC to the

nearest cm.

(i) Findthe Areaof ~ ABC

(in m? to 2 decimal places )

d) Find the perpendicular distance from (-2, 2)to the line

6x +3y-1=0 Intheexact form (2)
Question 4 (7 Marks ) (Start a new page )
a) Find 'x if sin80° =cos(90-x)° (1)

b Draw a neat sketch of the following curve showing all relevant points

y= (x+2)* +2 (2)

c) Evaluate "x’'and'y’

giving reasons

(drawing not to scale) 8

Question 5 (7 Marks) (Start a new page )

a) Solve |2x +1] = 3x-2 and check solutions (3)



b) A Find the exact length of AC (2)

600

45°

B @Sem_____,%,C

¢) Find the equation of the straight line that makes an angle of 135° with the positive

X - axis and passes through the point (2,6) (2)

Question 6 (8 marks) ( Start a new page )

a) ABis parallel toCD and AE = AC A— E #8 2)
Let /ACE = x

Prove that /ACE = /ECD

¢ 5

b) Two yachts sail in a straight line from a buoy B. Yacht A sails 12 km inthe
direction 038° T and yacht C sails 16km in the direction 128° T. Copy the diagram

into your bocks and show all the angles given .

NORTH (i) How far apart are Aand C ? (2)

| A

(i) What is the bearing of yacht A
as seen fromyacht C,

to the nearest minute? (2)

( drawing not to scale )



c) Find the equation of the straight line passing through ( 3,7) and parallel to

the line 5x-y-2 =0 (2)
Question 7 (7 Marks) ( Start a new page)
a) AB and CD are two vertical buildings with their D

bases A and C on level ground. The height of
ABis 50m. The angle of elevation of B from C

is 20° and angle of elevation of D from A is 35° © E
Calculate
(i Horizontal distance AC between the (1

two buildings, to 1 decimal place
(i) The height of CD, to 1 decimal place

35 X0° (2)

(i) The angle of elevation 8 of D as seen

»E 5Om-—9»03

from B, to the nearest minute.

b) Find the equation of the straight line with gradient of -2 that passes through the

midpoint of the line joining (5,-2)and (-3, 4) (2)
c) Find the exact value of cos 225° (1)

Question 8 (7 marks) (Start a new page )

. 3 ,
a) If sinx= -z and cos x> 0, find the values of

(i) tanx (i) secx (2)
b) Solve : 3tan® = 1 for 0°<®6 < 380° 2)
¢) ProvethatA (1,5). B (4,-6) and C (-3, -2) are the vertices of a (3)

right angled triangle
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